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Summary

Complete the summary below.
Choose NO MORE THAN TWO WORDS from the passage for each answer.
Write your answers in boxes 1-4 on your answer sheet.

There are currently approximately 6,800 languages in the world. This great variety of
languages came about largely as a result of geographical 1 ............ But in today's world,
factors such as government initiativesand 2 ............ are contributing to a huge decrease in
the number of languages. One factor which may help to ensure that some endangered
languages do not die out completely is people’s increasing appreciation of their 3 ........... . This
has been encouraged through programmes of language classes for children and through
‘apprentice’ schemes, in which the endangered language is used as the medium of instruction
to teach people a4 ............ Some speakers of endangered languages have even produced
writing systems in order to help secure the survival of their mother tongue.
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* Complete the summary below.

. Choose NO MORE THAN TWO WORDS from the passage for
each answer.
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There are currently approximately 6,800 languages in the world.
2. This great variety of languages came about largely as a result of geographical 1 ........... :

3. Butin today's world, factors such as government initiatives and 2 ........... . are contributing to
a huge decrease in the number of languages.

4. One factor which may help to ensure that some endangered languages do not die out
completely is people’s increasing appreciation of their 3 ............

9. This has been encouraged through programmes of language classes for children and through
‘apprentice’ schemes, in which the endangered language is used as the medium of
instruction to teach peoplea 4 ........... :

6. Some speakers of endangered languages have even produced writing systems in order to
help secure the survival of their mother tongue.
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6.800
largely as a result of geographical 1 ............
government initiatives and 2 ............

people’s increasing appreciation of their 3 ............

‘apprentice’

teach peoplea 4 ............
writing systems
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* This has been encouraged through programmes of language
classes for children and through_apprentice’ schemes, in which the

endangered language is used as the medium of instruction to teach
peoplead ............

* In California,_apprentice’ programmes have provided life support to
several indigenous languages. Volunteer ‘apprentices’ pair up with
one of the last living speakers of a Native American tongue to
learn a traditional skill such as basket weaving, with instruction
exclusively in the endangered language.
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* But in today’s world, factors such as government initiatives and
S are contributing to a huge decrease in the number of

languages.
» IR REI AR government initiatives, A &government
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But Salikoko Mufwene, who chairs the Linguistics Department at
the University of Chicago, argues that the deadliest weapon is not
government policy but economic globalisation.

Government policy = government initiatives

Not ...but... R H—F#HFx R
B 1tk IE 75 & 38 Reconomic globalization
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* Both ... and...

* Neither ... nor...

* Not ... but...

* Not only ... but also...

* Either ... or...
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* What explains this remarkable turn of events? Two factors: people
have figured out how to use water more efficiently, and
communities are rethinking their priorities for water use.
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* A third reason why the writing of original science in English was
delayed may have been to do with the linguistic inadequacy of
English in the early modern period. English was not well equipped
to deal with scientific argument. First, it lacked the necessary
technical vocabulary. Second, it lacked the grammatical resources
required to represent the world in an objective and impersonal way,
and to discuss the relations, such as cause and effect, that might
hold between complex and hypothetical entities.
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Johnson's Dictionary C5T1P1
Question 4-7

Complete the summary

Choose NO MORE THAN TWO WORDS from

the passage for each answer. Write your
answers in boxes 4-7 on your answer
sheet.

" SAMUEL =
JOHNSON’S
Dictz onary

E

SELECTIONS from the 1755 WORK
That Defined THE ENGLISH LANGUAGE




Questions 4-7

Complete the summary.

Choose NO MORE THAN TWO WORDS from the passage for each answer.

Write your answers in boxes 4-7 on your answer sheet.

In 1764 Dr Johnson accepted the contract to produce a dictionary. Having rented a garret, he

took on a number of 4 who stood at a long central desk. Johnson did not have a

s I available to him, but eventually produced definitions of in excess of 40,000 words
written down in 80 large notebooks. On publication, the Dictionary was immediately hailed in
many European countries as a landmark. According to his biographer, James Boswell, Johnson’s
principal achievement was to bring 6 ............ to the English language. As a reward for his hard

work, he was granteda 7 ............ by the king.



X ...on 18 June 1764. He was to be paid £1,575 in
instalments, and from this he took money to rent
17 Gough Square, in which he set up his
‘dictionary workshop'.

James Boswell, his biographer, described the garret
where Johnson worked as 'fitted up like a counting
house' with a long desk running down the middie
at which the copying clerks would work standing

up.

garret Bk
clerks BRin
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